






Justinw
Typewritten Text
Attach threaded bolts (#E) to the holes of the table base (#4), then align the threaded bolts through the holes of the support rail (#5). Secure with hex nut (#F) as shown in the picture.

Justinw
Rectangle

Justinw
Line

Justinw
Typewritten Text
Prepare 4 bolts assembly by inserting lock washer (#B), then flat washer (#C) onto bolts (#A). Align connected plate (#7) to the holes of the bottom rail, then secure with bolts (#A).

Justinw
Rectangle

Justinw
Typewritten Text
Prepare 6 bolts assembly by inserting lock washer (#B), then flat washer (#C) onto bolts (#A). Align bottom rail (#6) to the table base (#4), then secure with bolts (#A).

Justinw
Rectangle

Justinw
Line



Justinw
Typewritten Text
Prepare 6 bolts assembly by inserting lock washer (#B), then flat washer (#C) onto bolts (#A). Align up shelf (#3) to the holes of the table base (#4). Secure with bolts (#A).

Justinw
Rectangle

Justinw
Typewritten Text
Prepare 8 bolts assembly by inserting lock washer (#B), then flat washer (#C) onto bolts (#A). Align table base to the holes of the table top (#1). Secure with bolts (#A).

Justinw
Rectangle

Justinw
Line

Justinw
Typewritten Text
Attach and adjust floor protectors according to ground level.

Justinw
Rectangle



Justinw
Typewritten Text
Flip the switch underneath the table to unlock and separate the table top (#1), then attach the leaf (#2) in-between the tables (#1).

Justinw
Rectangle

Justinw
Typewritten Text
Flip the switch to lock

Justinw
Rectangle




